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QUESTION 1

Which three changes can you make by using the page composer tool? 

A. Add custom attributes to existing objects 

B. Reorder Fields 

C. Add validation rules for the custom attributes 

D. Show or Hide a Field 

E. Change a field label 

Correct Answer: BDE 

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/r13/wn/r13-2018-ppm-wn.htm 

 

QUESTION 2

Your organization has been using project class categories and codes for reporting purposes and is set up at the project
level. You recently defined a new project type, Capital-Contract, and created new class categories named Build,
Operate, and Transfer (BOT) and Build, Transfer, and Maintain (BTM), with class codes of Yes/No. But on creation of a
project, you are unable to associate these class categories and codes. 

Identify two setups that are mandatory for these class categories and codes to be displayed. 

A. Class codes should be assigned to project unit. 

B. Class categories should be assigned to business unit. 

C. Class codes should be associated with a related set code. 

D. Class categories should be assigned to project type. 

Correct Answer: AD 

 

 

QUESTION 3

Which three file-based data imports are available for use in Oracle Project Portfolio Management Cloud? 

A. Project Budgets 

B. Project Billing Events 

C. Project Tasks 

D. Project Templates 
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Correct Answer: ABC 

Reference: https://docs.oracle.com/en/cloud/saas/project-portfolio-management/r13-update17d/oefpp/File-Based-Data-
Import-in-Oracle-Project-Portfolio-Management-Cloud-Overview.html 

 

QUESTION 4

Your customer wants to perform billing based on the Percent Spent invoice method. 

Identify two setups that are required in project contracts for calculating invoice amounts as per their requirement. 

A. billing controls 

B. billing events 

C. invoice method 

D. bill plan 

E. expenditure items 

Correct Answer: BD 

If the invoice or revenue method is percent complete or percent spent, the extension creates the billing event based on
the calculation level for the billing extension specified in the bill plan or revenue plan. Reference:
https://docs.oracle.com/cd/E25054_01/fusionapps.1111/e20384/F552281AN66F0F.htm 

 

QUESTION 5

Your customer started operations and all projects in January 2015. They implemented Enterprise Project Structure for
calculating project labor demand by using the Annual option. When they view the labor demand on 15-Dec-2015, the
project hierarchy viewer shows data only for the year 2015. The client expected the demand to be shown for a year,
from 15-Dec-2015 to 15-Dec-2016. 

Identify how the project hierarchy viewer displays labor demand information. 

A. The project start date of Jan-2015 was used for calculating labor demand, and hence it calculated the demand for the
year 2015. 

B. The date entered by a user as a parameter when running the Update EPS job was set to 01-Jan-2015, and hence the
calculations show results for the year 2015. 

C. The current period start date is used for calculating labor demand for the current year. 

D. The current date is used for calculating labor demand for the current year. 

Correct Answer: B 
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